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4R HES
H4SRSH2AC(EFSR2HEBALESEIH) CHe: M)
2N -3 - c2(3H) - NEME - HES ALl J| & @ Hns
4,202,171 3,752,507 449,664
2 77,000 77,000 0
= 4,125,171 3,675,507 449,664
+5t2 HES 4,202,171 3,752,507 449,664
2 77,000 77,000 0
o 4,125,171 3,675,507 449,664
LS HHL(HLFLHEALSLESH) 4,202,171 3,752,507 449,664
=z 77,000 77,000 0
o 4,125,171 3,675,507 449,664
ST R=2e| 884,434 784,434 100,000
= 40,000 40,000 0
= 844,434 744 434 100,000
401 AlEHIZL 20 200,000 100,000 100,000
01 A& HI 200,000 100,000 100,000
OsdMI(RE38)HARA SAXH 200,000 100,000 100,000
TMRAFZ 2 & 2= 22| 2,308,306 1,858,642 449,664
206 M 24l 1,994,326 1,544,662 449,664
01 24l 1,994,326 1,544,662 449,664
Ogs3224H| 4003 *4,736,065kg 1,894,426 1,444,762 449,664
ol gl Y| 87,086 240,000 A 152,914
801 oflHI bl 87,086 240,000 A152,914
01 odlgl gl 87,086 240,000 A 152,914
ooyl gl 87,086 240,000 A 152,914
=3tz 2gael 33,906 0 33,906
101 @144l 33,906 0 33,906
04 JIZHH2Z2NHEES 33,906 0 33,906
oJlea2 20,915 0 20,915
— K= sAIAHIIEES)
70,300 169 »1H 11,881 0 11,881
—XY=stsAdIAHODIEEE)
53,450%x 169! x1H 9,034 0 9,034
Os3sdrd 4,332 0 4,332
—XYE=stsAdIAHOIIESES)
70,3002 x352 x1H 2,461 0 2,461
—XNY=st=sAdIAODI=EE)
53,4502 352 x1H 1,871 0 1,871
OAIZIR =gt 2,785 0 2,785
— K= HIAHIEES)
70,3002 /8%1.5%15A1 2t +82 « 1 1,582 0 1,582
—XY=ssAIAHIEEE)
53,450 /8%1.5%15A1 2t x82 « 1 1,203 0 1,203
O2+AalH| 5,000 x169 x2H 1,690 0 1,690
@l=k== 4,184 0 4,184
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